«000T/0SY-T'LD dgurey»
uumoiealqaregedgoogadat uiaHdeNol ¥oHel)

L




=

S

=]

Q@

©

Q

2 2

S 3

S S

o =

oo
LN

O o

3-

o &

v QO

qQ.

LA Vo)

0 =

Z

C X

X 3

o]

=

X

o

-

(C

=

&)

Io3. HanmeHnoBanue ApPTHKYJI Io3. HanmeHoBaHue ApPTHKYJI

1 Brynka pyKosITKH 32KMMHOM CTH450/1000.01 33-1 |llkuB Begynmii CTH450/1000.33-1
2 PykosiTka 3axuMHast CTJ450/1000.02 34  |Bunat M4x14 CTH1450/1000.34
3 [TnaTta npmxumHast CT/450/1000.03 35 | Xomyr CTJ450/1000.35
4  |boar M14x70 CT/[450/1000.04 36 |Brynka kabens CT/J450/1000.36
5 MaxoBUYOK CTJ1450/1000.05 37 |Taiik konmaukoBast M5 CTJ1450/1000.37
6 BunTt ycranoBounbiit M6x10 CTJ1450/1000.06 38 |[lmara MUKpOBBIKIIOUATENS CTJ1450/1000.38
7 ITuHOIB 3aHEH 0A0KH CTn450/1000.07 39 |Bunt M4x10 CTn450/1000.39
8 babxa 3amuss CTJ1450/1000.08 40  [Muxpossikmrouarens KW3 (3K) Y01304
9 [Taiika M18 CTJ1450/1000.09 41  |IIpoBox MOHTaKHBIN CT/J450/1000.41
10 |llogmmmuuk 62017 Y00034 42 |KopoOka MUKPOBBIKITFOYATEIIS CT450/1000.42
11 |Lentp 3agHei 6a0ku CTa450/1000.11 43  [Taiika M6 CT450/1000.43
12 |Dukcarop noapydyHuka CTJ450/1000.12 44  |Iaii0a 6 CTH1450/1000.44
13 |lloppyunux CTH450/1000.13 45 |TonkaTenb MUKPOBBIKIFOUATENS CTH450/1000.45
16 |Onopa nogpydyHuka CTH450/1000.16 46  |Bunt M5x16 CTH450/1000.46
17 |bont M8x16 CT/[450/1000.17 47  |I'aiika camoKoHTpsmasics M8 CT[450/1000.47
18  |laii6a npyxurHas 8 CT/[450/1000.18 48  |bont M6x12 CT/[450/1000.48
19  |Illaii6a 8 CTJ1450/1000.19 49  |bannax kabens pe3sMHOBBIN CTJ1450/1000.49
20 |UenTtp nepenneit 6adbku CT/[450/1000.20 50 |Kabenp nuTaHus ¢ BUIKOU CTJ450/1000.50
21  |KppllKa DOAIMITHUKA CT/[450/1000.21 51 |Kpslnka 3aaHs14 CT/J450/1000.51
22  |llogummnuuk 62037 Y00003 52  |Buat M5x10 CTJ450/1000.52
23 |Ilmanmaiiba CTa450/1000.23 53 |[Burarenn CTH450/1000.53
24  |Inunpens CTJ1450/1000.24 54 |laiixa M8 CTJ1450/1000.54
25 |Beixmouarens KJD6 Y00032 55 |Cranuna CTH450/1000.55
26 |lllaii6a 4 CT/1450/1000.26 56 |BunT M4x8 CT/450/1000.56
27  |Bunt M4x10 CTa450/1000.27 57  |aitba npyxunHas 4 CT450/1000.57
28 |babOka mepenHsis CTJ1450/1000.28 58 |IIpoBon 3a3emieHus CTJ1450/1000.58
29  |[['He3mo mommmMImHUKA CTJ1450/1000.29 59 |lllaitba kopoHYaTas CTJ1450/1000.59
30 |bont M8x20 CT[450/1000.30 60 |Kpsbimka CTJ450/1000.60
31 |llogmmnuauk 62047 V00028 61 |laiixa M4 CT/450/1000.61
32 |Pemens O-500 Y00016 62 |laii6a 5 CT/[450/1000.62
33 [IIxnB BETOMBIN CTa450/1000.33




